[Freehk] focEAE])
- - anba-com) N ] g" ?é
16E12HH ROEFAEEF IO~ (http://net-b @ﬁﬁgggg%%gb‘@m%%fg‘ﬁi
== i Icl& A
2022/11/13 (H) ®IA 5 MED %H‘%B%xrrba&mtf‘mbtﬁi AL
- 28000
3 5E 20:45 A: 2_: 2 350000 @ 133000 @ 77000 @;27200 - CZ;%I% -
SN = Npwesay P :
HRE — E SN |3 |56 T R BRI A%
e 3 AT X 9/17 T0R 2% 9311R1§‘_g1 B Fnek| com 7 2 3 4 5
N ERT fo71o " TR __8F 075|511 B oy h ERBE AR, SBTHER| ¢
1175150 10715 TIR _TOF 3% 6K 110710 IR REE SO 1.9% % B PEEFRIER
i “ﬁﬁ e B T VN S A Y | 30% 500K g O |k | O | 690 % MIsBDIEITAITFONIE 8 4316
# CRE- RARF IS T ‘%% 811 [3%%&)2;{)’%? Elil:%ie 2 2.1% 700(5 ‘Eé{)ﬁé} 6 051.4 18 . @2? iﬁj‘:éjé i éﬁé‘lf‘j% 32% 42/0 ‘ B ‘ A ‘ B ‘ c %EH
BIEALETR 177 @ DO 1.44.4 5 511 0 9oSEX 9725 11K S& 1 0/12 8K 2% 15 E =] ‘ 5‘
LRI YN yl{jvyg_ﬁ 2 B TNy O 0E 3103 1fo7ﬁ%\0b;£;§ 107 4%%1191\%? B o S P e ——— #iE 8 3 4 9
SUYE 690 Wt —8B  lemmm o OF 5%  TA[10/23 12R 1083|B1-2 155 SEOK AL . 9% 2 | 650K [FTT 0 TFORL
DX G I S 10771A2-2 670K B 0.7 5¢ 50 O | 710K BRI [ a3y | 27% | b sEs ThPAL < =
RAFINIT= gy 1065\A2°2 JBCZO22R | m 1.3% D 1 (1314 23 51 0w esm] 1430 c|[ B | A RiE
FAARN 17% 6 9@ 47.7 63 - = mEEm | 2.04.6 [ TRSE T 21 a A ‘
2200 :T'jJ:LI\/\'J 8 1506 57 75k &Zw ¥ jm;ﬁm** o oSE xS 10k 18 3710 e 5 %&@Lb 2B EREI A TE Tals
e 680 BA [E  lgsmu 5.8 P o 10 10911A2-2 1052208184 © 1092 2. 1% 690K 48 8 | & AR 5 8 s‘ ‘ ‘
= 30 12R 2-1 Lalaminty L 0.7% 6 670K TR K THICTOT
gfg?;ﬁ HE® TG ans JBG20228 ﬁ:é;%A5 122%7 0680K 'E?)E:@g 1 1344 wﬁ? {271_8»?% Ve T Oﬁsﬂjsi S| oK iﬂ; A B|E|B & NN NN
87 ° o @ « 3 0.8 VY /51/— R 2% 9/4 1 1 N =T
3|3 AAOYaDEA /\;3-?-&? 3 16'%1';173%45 FAEA 115 VLS %W”M %"%“51;%35@%2&%9% 1684 A921-83122 w (P22 o s T BRSATHRTL 20— BT | | ‘ 3 ‘ 4‘ 4‘ 9 ‘ 5
285 690 JEXE 1Y) FEHC] 6. oF 7E 1A [10/24 ﬁi S 1095|A2-3 680K BEHE ) S | 670K [T5 iy i
rESHEE 5746/11/6__ B8R T 0|Ass #AED ¥ 2.0% 10| 670K SALIEE [ 3101 20y | NSRS
g e s TR e e s o e g3
o 82 /] G5 < 2= 17 10R 5% 131 N i
41 4AOCA 'U‘7J/5"r'§t _ 1% 10%8;12?57/% 4 EERG| 49 77 ﬂJ*S’M :11 LR S Lo 821 02K (05| RS BROBRNBSLAL, 1 S@ 8
T oma 690 NE B umy L N | e L Y PELES G0N T00K mik 660K 695K EOBSAENE )
SUShT mem Al VLo m T g T 8T8 0 O | {ha5 5w LA SR T Tk Bl CC @2 g1l
BAYID — @« ®1D - v)l/\j'jﬁ’( 5 257 TR pE:3
ARAISTARA 3 1_47.6 M\se =770 14 6 vv/j_*,b q:mw 1107R9 & 9K 9219211R 10 AD-q 3 8 EENEREE. FNcHE> 3
i e N O0 B W oHmTl 08 vaslavn ol us el 1070/ A2%2 10522634 wEk V) 27 5 | 700k o it ® 834095
T 89(10/30 12R 002|A2-2 = 0.7% 30 Z00K B % | THFRIT T
%;;;ﬁﬁﬂ H6m® T200| A2 JBC20228 ﬁé'@ 4 11 z‘}% 36805 f“{'j% O 1488 ﬁif\jg(z) &gu FES %Mmﬁfg% 2175% 2(])/0 B A B A A
' S } ® « B PVNS | 144yl R 4% 9/4 7 o
616 A gya’-/\?‘\’{ é/\ O 112‘2)7';732350)73463 025 2R Or S %\ 1%:']21%12;‘35225‘&7}‘% (0| A2 lE%z w (P22 g i 10 AR TR TR AN XH
BEEZ 500 #5AK EN EHET K0 4K (10/23 1 1049 A2=2 ES0K MG . 4% 2 670K [0 EEE S FDL
AL 788/10/30  12R 033/ A2-2 0.7% 700K BEE | g4y | 1oy | EBUSEEERHIC
gg,gﬂ.ﬂ 5 AR JB(1327%222§3280K ﬁ%% 3 11_2%7 86805 ﬂ'”@”j'?g; 3 1.36.2 A@}%ﬁ? &Siﬂ qﬂ’ﬁ)‘iﬁ, EFET Oi:-%‘%g’% 3147/0 12/0 A ‘ A ‘ D \ B ‘ A z ‘ 8‘ 8 4 8 8
= @ « 28 /1T, AT 1.8 UI9BAA 4 1TR 1% 9/4 1 TR -
e :\:»9/7!'%7‘53 g)\ 4u g diedl R N Uil S 31 N A2NRS ,, A2, S TN E SR, KRR D TNNN N
BEEZ 590 ) (E¥a1d T o4 TX[10/23 1138|A2 0.7% 680K = 700K | 1 670K " SOEBAENT 6
= - % 21% | L—ZBENTHIVER, 10 31
7 ;%:ffm 5 IS JB(%%EzzzggoK EJ__Z% AZ:BZ 11,29% 1680@!3 ?S:&é 6 1417 Mg)&) 9_5[-;*7*;55 i%lﬁ;*lul ;;_lﬁéé ?ﬂ*é 3242/0 212/0 L DZ%IL‘ = ‘ 5 ‘ E ‘ 8 - 4 3
& . 1 A1, - | YR 9 TR 10 =
8] OO PPEIFEF=NY | 2 a9 p ] 7@5& o e e sk vl SNt Ty S e —— 1% 3
a = - A5 R 10 ~2 108228 Y 0 : 07 & - 8 4
Thser 090 B A lwes| 01 s oF8E 0L 110/23 12 1026/ A2-2 680K e K| 10| 890k BB E SN & m_m
TAE@T - 6373|1177 — 10R 1042|A2-2 680K Zith— 0.7% 5)O) 4 700 SEHEF 50 | 23y | BHIFATTE <
B35 %AT, HMOm  liplad T 1sc 2 110,552 T 143 T TS e 217 | B]AaJc]B[D |l _ HE
. 2 Sl “IVF [—BmET| 9.3 U 18 12R 4 0 e
o APA/TY gm FE %u 13':?8'3»3:01973453 s mefzz 10D2280A T 1618| ALS 21 B3 (g ST BUESER TN TRE, Eha 4 Tl || 8 3 ‘ 8 4
£@ESE - =) oL - = 6N (10 1026 (G e y 660K — -
290 20| W23 oot TF i NS 13 680K FIEEL 07 630K | o8 1 gk 1 |gox 324 27%| BHENUEL 18 316
8 e M5 1229| A2-2 7% 680K B‘I%!‘(S 6 1476 445,98 5 1.39.6 3 N s 1.76.9 [EFE3 ]| 1.43.0 . R4.10.30 12 R 8 4
1% . - [ ‘Z ~N *
10 e _ e 1.50.4 , 73,{ EFFR]| 6.7 jlm’L\:r—)w FEH<| 5.2 J:U S ——— ﬁﬁ%h?fl/ Jéc%‘g%gg‘—caﬁ;beA‘Z fﬂ =
ThEx 690 TR BIZ  lummu|ise ooy 10728 T2RT3% [ 10715 TR Z1% [ 107 ol o s e =z ‘ 50 man 1348 am
IR 10730 T2RT7% T 10729 T1R 25% e B1-1 ARILEHREER | A2-2 10 6 559U N1 6 i o Am
=@ K|S & 2 JBC2022%% | BI-1 BARLA-514 700 FEEA PPEVEF-VY 680 FWTA 1.34.
wE = Pl || A2 700 BEEA 2 "N.a44 77 = 1414 5AR
g HES 17| o 2 .76 0 EEE UaveRAYR 680 @@ 1.
< ERID n 45.8 4AR
1(1(zqa<wo5— o g 672 Sbﬁésli 7 477 1 682;54 5 K799 680 MLE 1.45 S
2|2(a9vann)y— 3 682—4?33@ CYFNFrUR 680 #Am 1.47. s
33 |UavbkMRITHR o S - 6 10 Séﬁé}li— RO ESIN 680 #rz= 1.50.0 —
alalvhn/84v A — 3 3478 0 . o .73 " Y1472 680 WEm 1.52.: o
55|24/ 1424 — 5 5 8 FIE 4 1.42.3 3 &% pd . ) 1.46.5 IUVINNUP— 670 BARE 1.:3.3 o
6|6[E¥FNTF ¥R 4 1458 S ) 7 O halr |7 1454 9 2 EXR5VYYYD 660 - 1.53.
X8/ RTY9T | A B80_ ARA 3 1414 7 4578 4 N ATE
217 - Te O A2 7425 > T RS Ny
8|77EY K¥—<> < b 5 1396
o[FA/ v F oo ol 7 g 6 *N.a76
8 104 F—2R




